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=> ABPHITE#0, r(4")>1;
=>r(A4’)=1.

AW En -1 FRE AN O
= A" =0, r(4")=0.




10. AR n(n=>2)r e, KiF

‘n (r(A)=n);

r(4)=<1 (r(A)=n-1);

0 (r(A)<n-1).

iE (1) r(A)=n: |A"|=]|A""'20 = r(4)=n.
2) r(A)=n-1_:

AT =M n-1rFXA A0
= AZBPEITLE-0, r(4")>1;
AA*=|A|E =0 = r(A)+r(4)<n = r(4")<1
= r(A4)=1.
3) r(A)<n-1: ARFFBEn-1HFRHEHANO
= A"=0, r(4")=0.




X

11. %A, BRFEM iM%, E—- ABW[I, KiFE-BA &

AT,
WE B E-ABWiY, B(E-AB)'=C:

(E-AB)C =E X?: (E—BA)X =E

= C-ABC=E

— BC - BABC = B X =FE+ BCA

— (E—- BA)BC =B

—> (E - BA)BCA= BA

—> —(E—-BA)BCA=-BA
—>FE—-(E—-BA)BCA=FE - BA
—=>(E—-BA)+(E—BA)BCA=E
—>(E—-BA)(E+BCA)=E

= (E — BA)™ = (E + BCA).




